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Essay 2010 – National Income Accounting/Economic Indicators (Set A)
Question 1

a) Explain what is meant by real gross domestic product and consider whether it is a good measure of economic growth in your country. (10)

Question 2

Corporate investment, which has been held back due to political uncertainty, is picking up again in Indonesia. Consumption is also likely to pick up further with falling unemployment as the economy continues to expand. 

a) Discuss the roles of corporate investment and consumption in the expansion of an economy. (12)

b) How far can the information lead you to conclude that the standard of living in Indonesian has risen? (13)

Question 3

The directors of a large manufacturing company wish to expand their export markets.

a)
If you were a researcher, what relevant information on potential export markets would you provide to the company? (12)

Question 4

‘The high rate of economic growth achieved in the past two decades has translated into a net improvement in our people’s standard of living. Unfortunately, the recent increase in the cost of living has started to outweigh this effect.’

a) In the light of the above statement, which indicator may be most appropriate for estimating living standards? (12)

Question 5

It has been reported that ‘in the last 30 years Indonesia has struggled out of poverty into the ranks of the world’s middle-income countries. The average Indonesian is better off than five years ago.’

(a) If you were asked as an economist to show that the ‘average Indonesian is better off than five years ago’, explain what information you would need.

Question 6

Economic expansion in Egypt has been driven by growth in a private consumption and gross fixed investment. Living standards, as measured, by GDP per head, have improved.

a) Explain why GDP per head is of limited value in measuring living standards. (13) 

Question 1

a) Explain what is meant by real gross domestic product and consider whether it is a good measure of economic growth in your country. (10)

Introduction


Real gross domestic product is the total monetary value of output produced by the citizens of a nation over a time period of one year. It is commonly used to denote the value of national income for a country, which is derived based on a territorial perspective. Economic growth is the measurement of the change in value of production capacity of the economy and can be measured in both short run and long run term. In the short run, economic growth is measured in term of its actual production capacity, while in the long run, it is measured in potential production capacity
Main body

The value of real GDP can be derived through the income, expenditure and output approach. It does not include the net property income from abroad which is the contribution of national income by local people working abroad less the contribution of national income by foreign workers in the country. Then it is further deflated through the national income deflator, which will take into the consideration of the effects of inflation so that the value of GDP is in real term and is not inflated in nominal value only. 

Explain why real GDP can be used to represent economic growth

1) It is the economic indicator that represent actual production capacity
2) It also reflects the total monetary value of national income earned within the country
3) From the output approach, the production capacity of the various sectors of the economy can be clearly understood, depicting the production activities within the economy. (sector performance analysis)
Explain why real GDP cannot be used to represent economic growth in the long run

1) The potential capacity of production is not represented by the real GDP as some resources, which are available are not fully employed and utilized in the economy.
2) Real GDP cannpt determine potential growth which will determine the actual growth in the future
Explain why it is not a good indicator – the problems of inaccuracy in calculation

1) Problem of double accounting

2) Problem of under-declared income

3) Problem of arbitrary definition of item

Explain that the real GDP is only able to measure the actual economic growth but not the potential growth, which is represented by the production possibility curve.

Conclusion

Question 2

Corporate investment, which has been held back due to political uncertainty, is picking up again in Indonesia. Consumption is also likely to pick up further with falling unemployment as the economy continues to expand. 

a) How far can the information lead you to conclude that the standard of living in Indonesian has risen? (13)

Introduction


Standard of living is defined as the quality of life that the citizens of a nation may enjoy and it may be classified in term of a quantitative or qualitative measurement. The quantitative measurement of standard of living is usually represented by the real per capita income, which reflects the material comfort of the citizens through their purchasing power. The above information may help to explain why standard of living has risen as it can show evidences that the purchasing power of the Indonesian people has risen. However, it may fail to do so when the qualitative measurement of SOL is used and other factors are considered.
Main Body

Explain why the information may help to explain why SOL has increased

a. Increase in corporate investment will lead to a rise in national income and subsequently, a rise in real per capita income. (Increase I – Increase AD – via K effect – increase NY – increase real per capita income – SOL will be higher provided that % of increase in GDP > % increase in price level and population growth) 
b. Consumption is increasing will show that the people are able to enjoy greater material comfort – implies that disposable income has increased – it implies that there is an increase in purchasing power to consume more goods and services – this will improve the quality of life and standard of living
c. Lower rate of unemployment will mean that the Indonesian has the disposable income to make purchase to sustain their livelihood. / low unemployment – tight labour market (demand for labour is greater than the supply of labour – wage increment – higher purchasing power – higher SOL as there is higher level of material comfort
Explain why the information may be insufficient (source: problems in time comparison)

1) Increase in corporate investment may not lead to increase in national income if the economy fails to reap an efficient utilization of resource. National income may not increase to raise the per capita income, undermining the level of standard of living.

2) Inflationary effect may erode the purchasing power of the consumer and lower down their SOL, especially for those essential goods. This will affect the standard of living of the lower income group more extensively. Real consumption may decrease – decrease in SOL
3) Increase in employment does not mean an increase in wages of the workers. The wage is likely to be low as production capacity has just increased. Large abundant of previously unemployed will put downward pressure on wage level due to the presence of excess labour supply. This means the workers’ purchasing power is still low.
(problems of time comparison)
4) Need to consider how the increase in national income is distributed among the Indonesian people. If the distribution is skewed towards the rich rather than a more equal distribution of income, only a small percentage of the population of the population is enjoying a higher standard of living.

Explain how the information fails to explain the qualitative aspects of SOL

1)  The information provided does not take into account the negative externalities that undermine the quality of life in areas such environmental problem & traffic congestion. 

2) The composition of expenditure is not known and the information is important as it will help to explain whether the goods that are produced will benefit consumers or not. If most of the goods are capital goods, the Indonesian people will not benefit immediately. Or, if the productions of goods are for export, the consumers are not going to enjoy higher level of welfare.

3) The information does not provide an understanding of the qualitative aspects of life such the working hours and stress level of environment.

Conclusion


The above information is of little help to explain the level of standard of living of the Indonesian people as it only reflects a limited understanding of the purchasing power of the people, which is only helpful in understanding the quantitative aspects of standard of livings. Therefore, it is not reliable to conclude that the standard of living of the Indonesians is higher based on the above information.

Question 5

 It has been reported that ‘in the last 30 years Indonesia has struggled out of poverty into the ranks of the world’s middle-income countries. The average Indonesian is better off than five years ago.’

a) If you were asked as an economist to show that the ‘average Indonesian is better off than five years ago’, explain what information you would need. (12)
Information – refer to the economic indicators that will reflect the SOL of the Indonesian

Comparison is based on time comparison and it is based on quantitative and qualitative comparison
(Definitions, requirements of the questions, state the economic principles)
To show whether an average Indonesian is now better off compared to the past five years, economists would most probably want to enquire whether their standard of living has risen. Standard of living refers to the average quality of life of a population that includes the material and non-material aspects of life. The material aspect is determined by the quantity of goods and services enjoyed by the individual through its real national income per head, whereas the non-material aspect includes things such as life expectancy, crime rates, education standard, etc. By using standard of living as an indicator, economists are able to obtain a fuller picture so to determine whether one is better off now or not.
To derive the real per capita income, Gross National Product (GNP) is needed which is the total money value of all final goods and services produced by resource owned by the citizens of a country, irrespective of whether these resources are located within the country or abroad, before deduction for depreciation, in a year. By dividing the GNP by the population, we would be able to determine whether the average income of a citizen has increased as compared to five years ago. The value of GNP per capita must be deflated by the current year price index to reflect the real purchasing power of the real per capita income.  If there is an increase in the value of the real per capita income, then it can be said that an average Indonesian citizen is now materially better off compared to five years ago.

However, real GNP per head is not a complete indicator of economic welfare, we would have to refer to other information as discussed in the following paragraphs.

Other areas that could be taken into account include income distribution. Also, by making use of the Gini ratio, we would be able to determine the level of income disparity present in Indonesia. If the Gini ratio value is high, then there is greater disparity and any economic growth would not necessarily mean that the average Indonesian has benefited the past five years. Besides this, the Wage to GDP ratio is also helpful in determining the extent of equality of distribution of the income in the country whereby a higher level of Wage to GDP ratio would be considered more equal and vice-versa. It is only with the information that the standard of living of the Indonesian people can be gauged. 

It is also important for economists to take note of the composition of output. If the production of goods and services are mainly for the welfare of the consumers, the increase in the national income will mean a rise in the level of material consumption for the people. This can also be seen in terms of the level of public goods and merit goods produced by the government.

Measurable Economic Welfare (MEW) is a measure that seeks to gain a fuller picture of the living standard by adjusting national income statistics to take into account other factors that have an impact on the quality of people’s lives. Factors that improve standard of living include increased leisure hours and factors that decrease the standard of living include rising crime and pollution. Of course in practice, this is difficult and expensive to measure the value of non-marketed “goods” and “bads”. (quantify the qualitative variables based on monetized value – convert the qualitative measurement of SOL into monetized value for comparison of SOL)
The Human Development Index (HDI) takes into account real GDP per head, life expectancy at birth and educational attainment as measured by adult literacy and combined primary, secondary and tertiary enrollment ratio. (use the progress of well-being to state whether the life of the individual is better or worse)
To determine whether an average Indonesian is now better off compared to the last five years comprises of a very wide scope. As an economist, the first priority would be given into looking at the changes in the standard of living. However, if the data is insufficient, he can also look into other areas such as price level and income disparity and draw a conclusion whether there had been evidence shown that “the average Indonesian is now better of than five years ago”.

Why HDI and MEW may not reflect the qualitative of SOL accurately?
The quality of the yardstick cannot be standardized and this will distort the value of SOL, undermining the accuracy of comparison. – the standard of education is now different, what a JC student learns in J1 is more difficult than the past.

The areas of comparison of the quality of life is different for different people due to diverse culture and lifestyle. Eg people who lives in rural areas will define their sense of enjoyment different from the people in the city.

Is standard of living a good measure of degree of inclusive growth for a country?
Source of information – problems of time comparison / the availability of public good and merit good/ degree of subsidies
(b) Comment on the difficulties of making comparisons of living standards between countries and over time. ( Problems of time and space comparison)
Due to the differences in the demographics and structures of different countries, there are bound to be discrepancies when comparing the standard of living. Similarly, if various factors of change were not taking into account when comparing the standard of living over time, inaccuracy would inevitably occur. As such, it would be pertinent to note that issues such as population changes, income distribution, undeclared economic activities, composition of national income, quality of life and the differences in the cost of living between countries are all various factors that affect comparison. 

Population changes need to be taken into consideration in calculating national income. This is because although real income tells us about the total output of an economy, it does not tell us what is happening to the standard of living of a representative person of a country. As such, per capita real income or real income per head has to be used to measure material welfare correctly. Real national income per head is determined by dividing the total national income by the country’s population. Hence, if there is a growth in national income that is greater than the growth in population levels, then we can conclude that the standard of living of the country has improved.

Income distribution is vital because even though national income per head has increase, we still cannot say that everyone in the country is better off without knowing how the real income is distributed. To have a more accurate measurement of welfare, we need to supplement real national income per head figures with data on how an increase in real national income is distributed among the members of the population. This said, the distribution of income of two countries might differ widely even if they have similar levels of per capital income. In this case, there will be differences in the actual standard of living for the population for both countries – even though the average standard of living measured by per capita income was equal.

Undeclared economic activities can seriously undermine calculation as the national income figures does not reflect the true change in the quantity of goods and services that consumers can enjoy. Examples of undeclared economic activities includes the evasion of paying tax and illegal activities like gambling, etc. hence, if the underground economy is growing relative to the legal economy, national income figures would understate the material standard of living of the population. If the size of the hidden economy is relatively constant, the rate of economic growth may be calculated reasonably. However, even a stable sized hidden economy makes it difficult to make international comparisons of economic growth rates. This is because the size of the hidden economy differs greatly and may be also influenced by other things such as the rate of taxes.

The composition of national income must also be taken into consideration when calculating the changes in standard of living. This is because a rise in national income does not determine a rise in standard of living. For example, during a war, output may rise due to the production of more weapons but the standard of living cannot be said to have increase. Also, developing countries such as Sri Lanka and India have a large subsistence agricultural based sector that constitutes a large proportion of the countries’ GNP. They grow their own crops for domestic usage but such figures are not captured. Thus, the existence of a relatively large non-monetary sector in such economies may grossly underestimate the country’s NNP compared to developed countries where transactions are based in monetary terms.

Quality of life needs to be accounted for because a rise in standards of living may come with certain negative externalities. For example, if national income were to increase simultaneously with the average number of working hours, then the quality of life has not improved. Other externalities such as rise in pollution, crime, etc, also constitute part of it. Also, national income figures may fail to consider the number of leisure hours enjoyed by the population. For example, though Japan has a very high national income, they work very long hours and seldom take holidays so their actual standards of living may be overstated as compared to other countries. The life expectancy rates, education levels, etc will also be different for different countries, thus, when there is a substantial difference between countries, then national income would not provide an accurate basis of comparing standard of living between countries.

Lastly, there is also the problem of fluctuation of the exchange rate. To compare standards of living between countries, it is necessary to convert real national income per head into a common currency. If a country’s exchange rate strengthens against the common currency, the real per capita income will be over-valued and thus distort the measurement of standard of living. Though this problem can be resolved by the use of Purchasing power parity, which is the exchange rate based on price levels of the two countries.

Q3.The directors of a large manufacturing company wish to expand their export markets. 

a)
If you were a researcher, what relevant information on potential export markets would you provide to the company? (12) economic performance – link to aims of the government – as an economist – use the information for the growth of the busines
Introduction


The relevant information gathered by the researcher must be to provide information about the economic condition of the foreign countries to enable the local manufacturing company to have a better understanding of the foreign market so as to develop an effective production and marketing strategy to capture the market and increase revenue for the firm. The information derived must reflect the knowledge of the consumer market, nature of competition and economic environment.

	Statistics
	Usefulness

	GDP/GNP
	Overall domestic economic performance

Whether the economy is in recession or recovery as income pattern will reflect level of spending and potential size of sales market
Economic structure

Stage of development of economy; as economy progresses, demand for services rise i.e. growing importance of mfg and service compared to agricultural demand (sector performance analysis)
Income distribution

Wage to GDP ratio, Wage to Profit ratio

Ratios reflect spending power of the masses. Critical information to determine the type of commodities that will have high potential demand.

Pattern of AE reflect the composition of C, I, G, X-M
Data will reflect:

Consumption propensity (vs savings rate)-high Sg rate – low C
Investment (local as well as FDI) influencing mkt share of rival companies (reflects the degree of compettion)
Public sector spending, tax policies that will affect COP, infrastructure development of power, transport

Share/importance of foreign trade vs domestic production



	UnN/Labour stats
	% of LF unutilized will attract wage level and purchasing power

	CPI
	Determines level of wages, hence purchasing power

Cost of living stats will affect wage levels; basis for computing expected future inflation – cost, wage, profit projections

	Trade stats/BOP
	Shows key trading partners i.e. source of imports, source of FDI, hence potential rivals. ( source of competition and resources)


Q5.‘The high rate of economic growth achieved in the past two decades  has translated into a net improvement in our people’s standard of living. Unfortunately, the recent increase in the cost of living has started to outweigh this effect.’


b)
In the light of the above statement, which indicator may be most appropriate for estimating living standards? (12)

1. What is standard of living and how is it measured?


Standard of living – way of life enjoyed by the average individuals within the economy. Material well-being – amount of goods and services available for consumption. Non-material well-being leisure, access to facilities, quality if life.


Common indicator is real GNP per capita.


GNP – amount of final goods and services generated with the resources in a given period of time Nominal GNP is measured in current market prices. Increase in nominal income can result from increase in general price level.


Real GNP – nominal GNP adjusted for price changes. This will reflect the actual amount of output generated in the given period.


Per capita – adjustment for changes in population.

       2. Can economic growth be used to estimate standard of living?
 
Economic growth is basically the sustained increase in the real GDP of country. It is the increase in the production capacity of the economy. Economic growth is measured by percentage change of the GDP over the previous year. Positive rate of growth in real GDP – increasing amount of goods and services generated thus an increasing amount available for consumption.


Positive growth rate if sustained over a period of two decades – increase in the potential of the economy to generate more goods and services. Material well-being can be said to have improved.


3. Can cost of living be used to estimate standard of living?


Cost of living – average cost of a given basket of goods and services, or cost of maintaining a standard of living. Cost of living is indicated by the consumer price index (CPI)


An increase in the cost of living would mean a higher money cost is needed to maintain the same standard of living. An increase in cost without an increase in wages would mean a lower standard of living. If the increase in cost is met with an increase in wages, standard of living will be maintained. If increase in income is greater than increase in cost, standard of living can still improved. Thus it can be seen that cost of living can only indicate the possible change given other things unchanged.


Cost of living by itself does not indicate the absolute level of standard of living


4. Limitations of national income


National income data may be inaccurate.


National income may not reflect welfare accurately for the average citizen. Illustrate:

· non-marketed transactions not accounted

· underground economy(black market) not accounted

· income distribution

· types of goods/services available – e.g. access to education, health, electricity

· negative externalities not accounted

· leisure hours not reflected

Additional Question for Review

Q1a) Discuss whether a rise in economic growth is a good indicator of improvement in standard of living. (13)
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